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1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version is considered to be Authentic.

What is an estimate? State objects of estimating.
Write accuracy criteria in measurement of R.C.C. and masonry items.
Write objects of valuation.

Write detail specification of R.C.C work for slab in 1:2:4.
Derive rate analysis for brickwork in CM(1:5)

OR
Derive rate analysis for 15 mm thick plastering in CM(1:4)

From fig. (1) of residential building ,find the quantity of excavation for
foundation.
From fig. (1) of residential building ,find the quantity of super structure masonry
above plinth.(up to slab)

OR
From fig. (1) of residential building ,find the quantity of earth filling in plinth.
From fig. (1) of residential building ,find the quantity of brickwork in foundation
and in plinth.

From fig. (2) of R.C.C. Beam ,find the quantity of steel reinforcement in R.C.C.
beam.
Describe the factors affecting value of a property.

OR
From fig. (2) of R.C.C. Beam ,find the quantity of concrete in beam(1:2:4) and
form work for a beam.
State the different forms of value and describe any two in details.

Find out present value of building, which was constructed 10 years before at a
cost of Rs.7,00,000. assuming life of building is 60 years. Rate of interest 10%
and scrap value 8% of construction cost.
The present value of machine is Rs.3,50,000. workout the depreciated cost at the
end of 6 years, if the salvage value is Rs.30,000. Assume the life of machine is 18
years. Use both constant percentage method and straight line method.
OR
Work out the standard rent for newly constructed building with following data.
(1) Land cost - Rs.2,00,000 ( 2) Building cost —Rs.4,50,000 (3) Life of
building — 70 years (4) Rate of interest on sinking fund — 4% (5)
Outgoing excluding sinking fund- 30% of gross rent (6) scrape value —
Rs.30,000 (7) Net return- 6%of construction cost & 5% of land cost.
Mr. R taken a building loan of Rs.10,00,000 from a bank. He has to return the
loan in 20 equal yearly installments at compound interest of 12% per annum.
Workout annual installment.
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